
Dyson AB11 wall 
mounting instructions

Dyson Customer Care Helpline

www.dysonairblade.com

Línea directa de Asistencia al cliente de Dyson

www.dysonairblade.com

JN
.4

85
04

  P
N

.6
28

52
-0

1-
02

  0
4.

04
.1

3

If you have any questions on the installation 
please call us toll free at 1-888-DYSON-AB 
(1-888-397-6622).

Si tiene alguna pregunta sobre la instalación, 
llámenos a este número de acceso gratuito: 
1-888-DYSON-AB (1-888-397-6622).

The NSF logo is a registered trademark of NSF International Corporation.

NSF Protocol P335
Hygienic Commercial

Hand Dryers



2

Important safety instructions
BEFORE INSTALLING OR USING THIS UNIT READ ALL INSTRUCTIONS  
AND CUSTOMARY MARKINGS IN THIS INSTALLATION GUIDE AND THE 
OWNER’S MANUAL
Save these instructions

Warning
Installation work, plumbing and electrical wiring must be done by qualified person(s) in 
accordance with all federal, state and local laws and applicable codes and standards, including 
fire-rated construction. 

Warning
Risk of electric shock! If casing is removed or handled improperly the internal components of the 
unit may cause harm or become permanently damaged.

THIS UNIT MUST BE EARTHED

Warning
TO REDUCE THE RISK OF FIRE, ELECTRIC SHOCK, OR INJURY TO PERSONS, 
OBSERVE THE FOLLOWING:

Before installation
Before beginning any installation work you must confirm the following.

WIRING
•	 Check that the electrical supply corresponds to that shown on the rating plate. If the unit is connected 

to any electrical supply other than stated on the rating plate of the unit, permanent damage or 
improper/unsafe operation of the unit may result.

•	 A means for all-pole disconnection must be incorporated into fixed wiring, in accordance with local 
wiring regulations.

•	 When connecting the unit to the electricity supply use electrical wiring in accordance with all federal, 
state and local laws and applicable codes and standards, including fire-rated construction.

•	 Connect the electricity supply using suitable conduit and electrical fittings. Ensure that the conduit and 
wires are long enough to connect to the backplate and the terminal block.

•	 The unit requires a 15 amp circuit breaker with a dedicated line and neutral.

SAFETY
•	 Isolate the power before installation or service.

INSTALLATION
•	 Make sure that the unit is installed in compliance with all building codes and/or regulations.
•	 The main unit must be mounted on a flat vertical wall capable of supporting the full weight of the unit.
•	 Use hardware as specified in this installation guide.
•	 Ensure no pipe work (gas, water, air) or electrical cables, wires or ductwork are located directly behind 

the drilling/mounting area.
•	 Dyson recommends the use of protective clothing, eyeware and materials when installing/repairing as 

necessary.
•	 This appliance is intended to be permanently connected to the water mains.
•	 This product should be installed with a device in accordance with local regulations or for the US with 

ASSE 1070 so that hot water delivered from this product is limited to a maximum temperature of 
49°C (120ºF). 

•	 Do not use sealant when fixing the unit to the wall.

Do not use any PRESSURE WASHING equipment for cleaning on or 
near this unit.

Warning
LOCATION

•	 The unit is designed for dry, internal locations only.
•	 Consult local and national accessibility codes and regulations for relevant installation guidelines. 

Conformity and compliance is the responsibility of the installer.
•	 Ensure the required electricity and mixed feed water supplies are available for later connection.
•	 Water pressure must be: maximum 116psi (8bar/0.8Mpa) and minimum 14.5psi (1bar/0.1Mpa). 
•	 The sink should not be fitted with a drain plug.
•	 When drilling holes, follow the instructions of the manufacturer of the work surface.

Warning
 This unit contains substances known to the state of California to cause cancer, birth defects and 
other reproductive harm. Wash hand after installation or repair of this unit.

IMPORTANT
•	 Please refer to the Owner’s Manual for details of the limited warranty.
•	 Dyson will not be held liable for any damage to property or personal injury as a failure to comply with 

the instructions contained herein.

INSTRUCCIONES IMPORTANTES DE 
SEGURIDAD 
ANTES DE INSTALAR O UTILIZAR ESTA UNIDAD, LEA TODAS LAS 
INSTRUCCIONES E INDICACIONES DE PRECAUCIÓN DE ESTE MANUAL Y DE 
LA GUÍA DE INSTALACIÓN
GUARDE ESTAS INSTRUCCIONES

ADVERTENCIA
El trabajo de instalación, colocación de cañerías y conexión eléctrica debe realizarlo una persona 
calificada conforme las leyes locales, estatales y federales y los estándares y códigos aplicables, 
incluso las regulaciones relacionadas con la construcción ignífuga. 

ADVERTENCIA
Riesgo de choque eléctrico Si la carcasa se quita o se maneja incorrectamente, las piezas 
internas de la unidad pueden causar daños o deteriorarse de manera permanente.

ESTA UNIDAD DEBE TENER CONEXIÓN A TIERRA

ADVERTENCIA
PARA REDUCIR EL RIESGO DE INCENDIOS, DESCARGAS ELÉCTRICAS O 
LESIONES PERSONALES, OBSERVE LO SIGUIENTE:

ANTES DE LA INSTALACIÓN
Antes de comenzar la instalación, debe confirmar lo siguiente:

CABLEADO
•	 Compruebe que la alimentación eléctrica corresponda a la que aparece en la placa de 

especificaciones. Si la unidad se conecta a un suministro eléctrico que no sea el indicado en la placa 
de especificaciones de esta, la unidad puede sufrir daños permanentes o funcionar de manera 
inadecuada o insegura.

•	 Debe incorporarse un sistema de desconexión de todos los polos al cableado fijo, conforme las 
normas locales de cableado.

•	 Al conectar la unidad a la alimentación eléctrica, conecte el cableado eléctrico conforme las leyes, los 
códigos y las normas federales, estatales y locales aplicables, incluso las regulaciones relacionadas 
con la construcción ignífuga.

•	 Conecte el suministro de corriente eléctrica mediante los accesorios eléctricos y el conductor 
adecuado. Asegúrese de que el conducto y los cables sean lo suficientemente largos como para 
conectarse a la placa posterior y al bloque de terminales.

•	 La unidad necesita un disyuntor de 15 amperes con una línea exclusiva y neutra.

SEGURIDAD
•	 Aísle la alimentación eléctrica antes de la instalación o de realizar el mantenimiento.

INSTALACIÓN
•	 Asegúrese de que la unidad se instale conforme todos los códigos y normas de construcción.
•	 La unidad principal debe montarse en una pared plana vertical que sea capaz de soportar el peso 

total de la unidad.
•	 Use los accesorios tal como se detalla en esta guía de instalación.
•	 Asegúrese de que no haya ninguna tubería (de gas, agua, aire) ni cables eléctricos, alambres o 

conductos directamente detrás de la zona de montaje/perforación.
•	 Dyson recomienda el uso de ropa, gafas y materiales de protección al instalar o reparar según sea 

necesario.
•	 Este electrodoméstico está diseñado para conectarse en forma permanente a la red de suministro de 

agua.
•	 Este producto debe instalarse con un dispositivo que cumpla los estándares locales o, en los 

EE. UU., el estándar ASSE 1070, en forma tal que el agua caliente que brinde el producto tenga una 
temperatura máxima de 49 °C  (120 ºF). 

•	 No utilice sellador para fijar la unidad en la pared.

NO UTILICE EQUIPOS DE LAVADO A CHORRO PARA LIMPIAR ESTA UNIDAD 
O LAS ÁREAS CERCANAS.

ADVERTENCIA
UBICACIÓN

•	 La unidad está diseñada para colocarse en lugares interiores y secos únicamente.
•	 Consulte los códigos y las normas de accesibilidad locales y nacionales para las pautas de instalación 

relevantes. El cumplimiento de estas normas es responsabilidad del instalador.
•	 Asegúrese de que estén disponibles los suministros de agua de alimentación mixta y de corriente 

eléctrica para conectarlos más adelante.
•	 La presión del agua debe ser: 116 psi (8 bar/0.8 MPa) como máximo y 14,5 psi (1 bar/0.1 MPa) como 

mínimo. 
•	 El lavabo no debe estar equipado con un tapón de drenaje.
•	 Al realizar perforaciones, siga las instrucciones del fabricante de la superficie de trabajo.

ADVERTENCIA
Esta unidad contiene sustancias reconocidas por el estado de California como causantes de 
cáncer, anomalías congénitas y otros daños reproductivos. Lávese las manos después de instalar 
o reparar esta unidad.

IMPORTANTE
•	 Consulte el Manual del propietario de para obtener información sobre la garantía limitada.
•	 Dyson no será responsable de ningún daño a la propiedad o lesión personal que se produzcan por 

no seguir las instrucciones especificadas en este documento.

Contents.

Metal enclosure x 1

Duct x 1 and  
Duct cover x 1

In this box

Tap with hose x 1

Rubber seal x 1 Glamour Plate x 1

Fixing clip x 1

Backplate x1 Motor bucket and filter 
(attached) x 1

Security screw x 1

To install this unit you will need 
screws and appropriate fittings.

M5X16 Caphead Bolt x 5
M5X38 Woodscrew x 8
M5 Washer x 9
M5X60 Countersunk Bolt x 4
M6X76.2 Woodscrew Buttonhead x 4
M6 Washer x 4
M5 Nut x 5

Contenido.

Cerramiento de metal 
x 1

Conducto x 1 
y cubierta del 
conducto x 1

En esta caja

Grifo con manguera x 1

Sello de goma x 1 Placa glamour x 1

Broche de fijación x 1

Placa posterior x 1 Cubo del motor y filtro 
(incluido) x 1 

Tornillo de seguridad x 1

Para instalar esta unidad 
necesitará tornillos y accesorios 
de fijación adecuados.

Tornillo de cabeza cilíndrica M5X16 x 5
Tornillo para madera M5X38 x 8
Arandela M5 x 9
Tornillo avellanado M5X60 x 4
Cabezal de tornillo para madera 
M6X76.2 x 4
Arandela M6 x 4
Tuerca M5 x 5



3

1.	This Dyson product is designed so the motor 
unit is located behind the stud wall.

2.	The Dyson unit is fitted after the position of 
the sink is determined. From the sink position, 
all recommended measurements can be 
calculated. 

3.	It is vital to make sure the construction takes 
into account all the correct measurements 
before work begins, including the positions of 
the: wall studs, wall surface, work surface, sink, 
Dyson unit.

4.	The key measurement is from the centre of the 
tap to the floor. The recommended distance 
is approximately 955mm, but this will differ 
depending on the desired height of the sink 
(please see section 5). 

5.	The vertical wall studs must be constructed 

so as to allow the metal enclosure to be fitted 
between them. 

6.	One of the horizontal wall studs must be fitted 
a) so it holds the main weight of the metal duct 
and the unit, and  
b) so it is in the correct position for the tap stem.

7.	If a series of units are fitted along a wall 
adjacent to each other, careful planning will 
be required to correctly position the wall studs, 
plasterboards/wall surfaces, utility supplies, 
sinks, Dyson units, etc. 

8.	Ensure electricity and mixed water supplies 
and drainage connections are available for 
connection.

9.	Allow sufficient access space from the side for 
installation and servicing.

NOTE: The sink should not be fitted with a plug.

Stage 2: Attach the plasterboard to the 
studwork
1.	Attach the plasterboard to the studwork 

using appropriate fixings.
2.	Cut the correctly positioned holes for:
a) The tap stem and the (4) fixing screws for the 
tap stem mounting collar.
b) The backplate and motor bucket unit.
NOTE: Use the wall studs behind the wall as a 
vertical guide for cutting.

Stage 3: Attach the worktop to the plasterboard
1.	Attach the worktop and sink to the 

plasterboard at the correct height.
2.	Finish the wall surface as required. 
3.	Clear any debris from the metal enclosure. 

Ensure it is clean and free of dust.

1.	Mark the centre of the tap to the floor. 
2.	On the wall studs mark the locations for the 

screw holes for the fixing points for:  
a) the top clamp on the duct, and  
b) the flanges of the metal enclosure.

3.	Drill holes. CAUTION: Do not use the 
backplate as a guide when drilling.

4.	Screw the top clamp and the metal enclosure 
to the wall studs. Countersunk wood screws 
(supplied) are recommended to avoid 
protruding into the wall. 

WARNING: Risk of electric shock!

NOTE: The unit must be earthed. 
a) �Dyson suggests that it is easier to position the 

conduits for the electrical and mixed water 
supplies into the metal enclosure before fitting 
the backplate. 

b) �Pierce a small hole in the lower grommet and 
feed through the electrical supply. Use suitable 
conduit and electrical fittings. Ensure that the 
conduit and wires are long enough to connect 
to the backplate and the terminal block.

c) �Pierce a small hole in the upper grommet and 
feed through the mixed water supply.

IMPORTANT: Before beginning this stage, ensure 
all measurements are accurate and that you are 
aware of the steps in the procedure. 

Stage 1: Measure the plasterboard
Place the plasterboard onto the studwork. Ensure 
the following locations are measured and marked 
correctly:
1.	The hole for the tap stem. The distance between 

the proposed top of the sink edge and the centre 
of the tap hole should be 121mm.

2.	The four holes for the screws of the tap stem 
mounting collar.

3.	The height of the sink and worktop (usually 
800mm, or as required).

4.	The access hole for the backplate/motor unit.

1 2 3 4 5 6
Plan the location. Unpacking. Fitting the metal enclosure. Preparing the electricity 

and water connections. 
Install plasterboard.

1.	Fit the access panel. Ensure that the holes are 
at the bottom of the enclosure. 

2.	Mark the locations for the four screw holes.
3.	Prepare the holes, using the appropriate fixings. 
4.	Secure the access panel to the plasterboard 

using (4) screws and washer.
5.	Centralise and fix the glamour cap on the tap.

14
Attach motor bucket and
install access panel.

7

WARNING
Use caution when unpacking the components. 
There may be sharp edges/corners which may cut 
or cause harm. 
1.	Assemble the metal enclosure and ducting.  

a) Fit the cover on to the duct. 
b) Secure the duct to the metal enclosure with 
the (5) bolts and washers (supplied). 
c) Take care when handling the metal assembly.

Backplate
1.	Remove the motor bucket from the  

backplate: press in the release catch at the  
bottom and lift up. Put the motor bucket to  
one side and store safely until required.

2.	Remove the water pipe cover and the electrics cover 
from the backplate. Put them to one side and store 
the screws safely.

3.	Slide the backplate into the metal enclosure over the 
fixing points. Secure with the four nuts (supplied).

Hose
1.	Unscrew the glamour cap.
2.	 Slide the rubber seal onto the tap stem.
3.	Feed the tap stem and hose through the hole in the 

plasterboard and into the metal duct. Ensure the water 
tube and communications cable are fed through first. 
The rubber seal fits beween the tap and the wall. 

Install backplate and hose.

1.	Secure the tap surface mounting collar to the 
plasterboard with the (4) screws (supplied). 
Ensure the screws line up with the holes in the 
tap bracket behind the plasterboard. Make sure 
the tap is level before tightening.

2.	Screw the glamour cap on hand tight.

Secure tap.

Tap stem
Hose

Rubber seal

10 11 12 13

1.	Switch on.
2.	Place hand under sensor on tap to activate 

water flow.
3.	Inspect for leaks at the main water supply inlet 

and the water tube connection to the tap.

Secure the water pipe cover on to the backplate as 
shown (using the two fixings provided).

1.	Hook the motor bucket to the top of the electrics 
cover. Swing it downwards so it clicks into place 
as shown. Push in securely.

2.	Test the unit for correct operation.
3.	To remove the motor bucket, press in the 

release catch at the bottom and lift up.

Check for leaks and  
install water pipe cover.

clik

8 9

Tornillo de seguridad x 1

1.	Plug the communications cable in the hose into 
the connector in the backplate as shown. Check 
the orientation of the connector – the two tabs 
must be lined up. Ensure the wiring is correctly 
routed in the channel in the backplate. 

2.	Clip the hose into the backplate.

Connect communications 
cable and hose.

L N

1

2

clik

Warning: Risk of electric shock!
1.	Connect the electricity supply using approved 

flexible or solid conduit and electrical fittings. 
Ensure that the flexible or solid conduit and 
wires are long enough to connect to the 
backplate and the terminal block. Tighten the 
cable gland.

2.	Secure the line and neutral wires into the 
corresponding terminal block locations. Verify 
the connections are correct before proceeding.

1.	Cut the water tube to size at the dotted white 
line. 

2.	Slide the fixing clip (supplied) onto the water 
tube.

3.	Connect the water tube onto the water 
connection on the backplate as shown. 

4.	Secure with the fixing clip.

•	 Electrics cover fixing locations 6x fixings 
included

Secure the electrics cover as illustrated with the 
(6) fixings. Ensure no wires are trapped when 
securing the cover.

Wire main electrical power. Connect water tube. Install electrics cover. Connect the mixed  
water supply.

1.	Connect the isolated mixed water supply to the 
connection on the backplate.

2.	Turn on the water.

L N

1

3

12

24



4

1.	Este producto de Dyson está diseñado de forma 
tal que la unidad del motor esté ubicada detrás 
de la pared de entramado.

2.	La unidad Dyson debe colocarse luego de 
determinar la posición del lavabo. Se pueden 
calcular todas las mediciones recomendadas 
desde la posición del lavabo.

3.	Es muy importante asegurarse de que la 
construcción tome en cuenta todas las 
mediciones correctas antes de empezar el 
trabajo, incluidas las posiciones de: los tirantes 
de las paredes, las superficies de las paredes, 
las superficies de trabajo, el lavabo y la unidad 
Dyson.

4.	La medición más importante es del centro del 
grifo al piso. La distancia recomendada es de 
aproximadamente 955 mm, pero esto varía 
según la altura deseada para el lavabo. 
(consulte la sección 5).

5.	Los tirantes verticales de la pared deben estar 
hechos de forma tal que permitan que el 

cerramiento de metal se pueda colocar entre 
ellos.

6.	Uno de los tirantes horizontales de la pared debe 
colocarse de modo que a) mantenga la altura 
principal del conducto de metal y la unidad y (b) 
quede en la posición correcta para la base del 
grifo.

7.	Si una serie de unidades está ubicada en una 
pared adyacente a las otras, será necesario 
realizar una planificación adecuada para ubicar 
correctamente los tirantes de las paredes, las 
paredes o superficies de yeso, los accesorios de 
trabajo, los lavabos, las unidades Dyson, etc.

8.	Asegúrese de que estén disponibles para 
conectar los suministros de agua de alimentación 
mixta, de corriente eléctrica y las conexiones de 
drenaje.

9.	Deje suficiente espacio de un lado para la 
instalación y el mantenimiento.

NOTA: El lavabo no debe estar equipado con un 
tapón.

1.	Marque el centro del grifo al piso.
2.	En los tirantes de la pared, marque las 

ubicaciones para los orificios de los tornillos de 
los puntos de fijación para: 
a) la abrazadera superior del conducto y 
b) las bridas del cerramiento de metal.

3.	Perforaciones. PRECAUCIÓN: No utilice 
la placa posterior como guía al realizar las 
perforaciones.

4.	Atornille la abrazadera superior y el 
cerramiento de metal en los tirantes de la 
pared. Se recomiendan tornillos avellanados 
para madera (suministrados) para evitar que 
sobresalgan del interior de la pared.

ADVERTENCIA: Riesgo de choque eléctrico.

NOTA: La unidad debe tener conexión a tierra.
a) �Dyson sugiere que es más fácil ubicar los 

conductos del sistema eléctrico y de suministro 
de agua mixta en el cerramiento de metal 
antes de colocar la placa posterior.

b) �Realice una pequeña perforación en la 
arandela más baja y pase el cableado de 
suministro eléctrico. Utilice conductores y 
accesorios eléctricos adecuados. Asegúrese 
de que el conductor y los cables sean los 
suficientemente largos como para conectarse a 
la placa posterior y al bloque de terminales.

c) �Realice una pequeña perforación en la 
arandela más alta y pase el suministro de agua 
mixta.

IMPORTANTE: Antes de empezar con esta 
etapa, asegúrese de que todas las mediciones 
sean precisas y conocer todos los pasos del 
procedimiento.
Etapa 1: medición de la pared de yeso
Coloque la pared de yeso sobre el entramado 
de tirantes. Asegúrese de que las siguientes 
ubicaciones estén medidas y marcadas
correctamente:
1.	La perforación para la base del grifo. La 

distancia entre la parte superior del borde del 
lavabo sugerida y el centro del orificio del grifo 
debería ser de 121 mm.

2.	Las cuatro perforaciones para los tornillos en el 
anillo de montaje de la base del grifo.

3.	La altura del lavabo y de la encimera (por lo 
general, 800 mm o según sea necesario).

4.	La perforación de acceso para la placa posterior 
o la unidad de motor.

Etapa 2: Una la pared de yeso al entramado de 
tirantes
1.	Una la pared de yeso al entramado de tirantes 

con los accesorios de fijación adecuados.
2.	Realice las perforaciones en el lugar correcto 

para: 
a) La base del grifo y los (4) tornillos de fijación 
para el anillo de montaje de la base del grifo. 
b) La placa posterior y la unidad del cubo del 
motor.

NOTA: Use los tirantes de detrás de la pared como 
una guía vertical para la perforación.
Etapa 3: Una la encimera a la pared de yeso
1.	Una la encimera y el lavabo a la pared de yeso 

a la altura correcta.
2.	Termine la superficie de la pared como sea 

necesario.
3.	Limpie los residuos del cerramiento de metal. 

Asegúrese de que esté limpio y sin polvo.

1 2 3 4 5 6
Planifique la ubicación. Desembalaje. Ajuste del cerramiento  

de metal.
Preparación de las 
conexiones de agua y 
corriente eléctrica.

Instale la pared de yeso.

1.	Instale el panel de acceso. Asegúrese de que las 
perforaciones estén en la base del cerramiento.

2.	Marque las ubicaciones de las cuatro perforaciones 
para los tornillos.

3.	Realice las perforaciones con los accesorios de 
fijación adecuados.

4.	Asegure el panel de acceso a la pared de yeso con 
(4) tornillos y arandelas.

5.	Centre y fije la tapa glamour en el grifo.

14
Una el cubo del motor e 
instale el panel de acceso.

7

ADVERTENCIA
Sea cuidadoso al desembalar los componentes.
Es posible que tengan bordes o esquinas filosas 
que pueden provocar cortes u otros daños.

1.	1. Ensamble la caja y los conductos. 
a) Coloque la cubierta en el conducto. 
b) Asegure el conducto al cerramiento de metal 
con los (5) tornillos y arandelas (suministrados). 
c) Tenga cuidado al manejar el conjunto de 
metal.

Placa posterior
1.	Quite el cubo del motor de la placa posterior: 

presione el mecanismo de liberación que se 
encuentra en la parte inferior y levántelo. Coloque 
el cubo del motor de un lado y guárdelo de manera 
segura hasta que sea necesario usarlo.

2.	Quite la cubierta del conducto de agua y la 
cubierta del sistema eléctrico de la placa posterior. 
Colóquelas a un lado y guarde los tornillos de 
manera segura.

3.	Deslice la placa posterior en el cerramiento de metal 
sobre los puntos de fijación. Ajústela con las cuatro 
tuercas (suministradas).

Manguera
1.	Desatornille la tapa glamour.
2.	Deslice el sello de goma en la base del grifo.
3.	Haga pasar la manguera y la base del grifo por la 

perforación de la pared de yeso y dentro del conducto 
de metal. Asegúrese de que el conducto de agua y el 
cable de comunicaciones pasen primero. 
El sello de goma se ajusta entre el grifo y la pared.

Instale la placa posterior y 
la manguera

1.	Asegure el anillo de montaje de la superficie 
del grifo a la pared de yeso con los (4) tornillos 
(suministrados). 
Asegúrese de que los tornillos estén alineados 
con las perforaciones del soporte del grifo 
ubicadas detrás de la pared de yeso. Asegúrese 
de que el grifo esté nivelado antes de ajustarlo.

2.	Atornille la tapa glamour con la mano.

Asegure el grifo.

Opción 
de grifo

Manguera

Sello de 
goma

10 11 12 13

1.	Encienda la unidad.
2.	Coloque una mano debajo del sensor del grifo 

para activar el flujo de agua.
3.	Verifique que no haya pérdidas en la entrada 

principal del suministro de agua y en la 
conexión del tubo de agua al grifo.

Ajuste la cubierta del conducto de agua en la 
placa posterior, como se muestra en la ilustración 
(mediante los dos tornillos proporcionados).

1.	Enganche el cubo del motor a la parte superior de la 
cubierta del sistema eléctrico. Deslícelo hacia abajo 
hasta que encaje en su lugar, como se muestra. 
Asegure firmemente.

2.	Pruebe la unidad para verificar si funciona 
correctamente.

3.	Para retirar el cubo del motor, presione el 
mecanismo de liberación que se encuentra en la 
parte inferior y levántelo.

Verifique que no haya 
pérdidas e instale la 
cubierta del conducto  
de agua.

clik

8 9

1.	Enchufe el cable de comunicaciones de la 
manguera en el conector de la placa posterior, 
como se muestra en la ilustración. Revise la 
orientación del conector (las dos lengüetas 
deben estar alineadas). Asegúrese de que el 
cableado se disponga correctamente en el 
canal de la placa posterior. 

2.	Sujete la manguera a la placa posterior.

Conecte el cable de 
comunicaciones y la 
manguera.

L N

1

2

clik

Advertencia: tenga en cuenta el riesgo de choque 
eléctrico.
1.	Conecte el suministro de corriente eléctrica 

mediante los accesorios eléctricos y el conductor 
flexible o rígido aprobado. Asegúrese de que el 
conductor flexible o rígido y los cables sean los 
suficientemente largos como para conectarse a la 
placa posterior y al bloque de terminales. Ajuste el 
collarín del cable.

2.	Ajuste los cables línea y neutro en las ubicaciones 
que les correspondan en el bloque de terminales. 
Antes de continuar, compruebe que las conexiones 
se hayan realizado correctamente.

1.	Corte el tubo de agua de manera que su largo 
llegue hasta la línea blanca punteada. 

2.	Deslice el broche de fijación (suministrado) 
sobre el tubo de agua.

3.	Conecte el tubo de agua a la conexión de agua 
que se encuentra en la placa posterior, como se 
muestra en la ilustración. 

4.	Sujételo con el broche de fijación.

•	 Ubicación de los elementos de fijación de 
la cubierta del sistema eléctrico. Se incluyen 
6 elementos de fijación.

Ajuste la cubierta del sistema eléctrico con los 
(6) elementos de fijación, como se muestra en la 
ilustración. Cuando ajuste la cubierta, asegúrese 
de que no quede ningún cable dentro de la 
unidad.

Conéctelo a la fuente 
principal de energía. 

Conecte el tubo de agua. Instale la cubierta del 
sistema eléctrico.

Conecte el suministro  
de agua mixta.

1.	Conecte el suministro de agua mixta 
independiente a la conexión que se encuentra 
en la placa posterior.

2.	Abra la llave de paso del agua.

L N

1

3

12

24


